iy
Il
iz}
4r
i

A II: i| |5 ==
+T 2YY RE

FE#| (Push) EHX{ » El EI Q] 3| & K|
EH 23230.

NE MdH
Z4| (Push) BHXE 2 ZOL} T8 Moll, ZEES 210 A x| =™ stE ol o
#tstet.

LEAL 21 EFloll SIT BHE 91%| TS RAHsto] ASE £ Qi

k] e g2
—_ ="
s O}94 C}O| FHAE . ZCIAElI FEIXHZ|. A
LIAF DAl TE 2FA._HHH , ECtAE IRIXE] F
« AR B F5R{E, SR =
, £zxol
=3 .
= AEl =AM
- A% ofed Z 2RI " &8, KA
b, e L‘|E
== —
LEAL # . AEl Z M
- AR, EM X2, 5 BE US =0
a3
L4
S J7
|
'_‘__<—|>
<
= 2
5| - -© = & g
B P
ey |
F1 -—
~N
o] | %
Fa b
I
S __. s __. s
— _T— A_T_
E N\ ~ 7 NE= .
[N Q= / o A oy
v
AN
agl2 a3 agl4
% AE| WS Az @ i HEHS,
23
d, d, d, d, d d I L L I I I I t r b k S WS WS F F
-0,2 £ Z|CH
s
[mm] [mm]  [mm] [N] [°C] [d]
QFLEAL EFR - 211
M12x 1,5 90 21 M4 M4 43 46,0 19 26 14 11,5| 35 6 8 - 12 25 6 8 19 16 35 100 | 85 23230.0510
M16 x 1,5 120 21 M5 M5 53 /56,0 27 34 18 155 47 8 10 - 14 35 8 |10 24 25 71 100 154  23230.0512
M20 x 1,5 145 25 M6 M5 53 695 33 34 18 155 47 10 12 - 14|35 10 12 30 40 130 100 211  23230.0514
Zo| #E3 Etel - 18 2
M12x 1,5 9,0 21 - | M4 43 460 19 26 14 11,5 35 6 - - 12 25 6 8 19 16 35 | 100 85 | 23230.0530
M16 x 1,5 120 21 - |M5 53 56,0 27 34 18 155 47 8| - - 14 35 8 |10 24 25 71 1 100 | 154 | 23230.0532
M20 x 1,5 145 25 - M5 53 69533 34 18 155 47 10 - - 14 35 10 12 30 40 130 100 | 209 23230.0534
gtRE Efel - J3l3
M12x 1,5 9,0 21 - M4 43 460 19 26 14 115 35 6 - 45 12| 25 6 8 19 16 35 | 100 85 | 23230.0550
M16x 1,5 12,0 21 - M5 53 56,0 27 34 18 155 47 8 - /60|14 35 8 10 24 25 71 | 100 155 | 23230.0552
M20 x 1,5 145 25 - M5 53 695 33 34 18 155 47 10| - 72 14|35 10 12 | 30 40 130 100 210 23230.0554
Zt7|S Etd - a3 4
M12x 1,5 9,0 21 - M4 43 46,0 19 26 14 11,5 35 6 - - 12 25 6 4 19 16 35 | 100 85 | 23230.0570
M16 x 1,5 120 21 - M5 53 56,0 27 34 18 155 47 8 - - 14 35 8 6 24 25 71 | 100 153 | 23230.0572
M20 x 1,5 145 25 - M5 53 695 33 34 18 155 47 10| - - 14 /35 10 8 30 40 130 100 209 23230.0574

" EHY BRI

NHALDER 367





